G Rt ® 2 @& -AISC 7 2xk Rz &2 E & a7

CEE/ RN

b

P Gy e BEE Pl eI LR 0 GBS RS § FIRLE A

W

RA D FEY R S o R 2 2 IR T REEE T 2 R RE
R {73 PR B 2ibed WRA1 e X PlphS foPmanp o F B R 2 g ok
AP EFE)GELA ST G o AFF T 44 AISC (1986 ~ 1994 ~ 1999 ~ 2005 ~ 2010)# & = 5% »
FRHFRAR L AFEETR 22 0 1R ES Y T 2 AISC R —fraid * 2] o B4
B2 e Pl frm Rl A4 o f- X §Efos S §aE G B %Rk (By, By, Prt, Pit, Pet, Pe2)
PR~ PRt o AL BT # DAL AISC 2 A 45 0 i ER IR R ST o

¥ —fr4f 2 & AISC-LRFD .46 ¢ ch3 #5 2 5¢

9| M

C CX

. P_8(M, M
é Pr/PCZOZ, F‘F—(_'FM_Z/J:pPr+berX+byMryS1'O

,_ 8 __8 . _ 8 8

;Li t‘ p:i’ , =
Pc " 9M cX 9¢b M nx ’ 9|\/| cy 9¢bM

M
£ P /P <02, ot +(M“+ W}:%ppr+§(berx+byMry)Sl.O

ib_S_ 8 b_s_ 8
P oM, 9%M, 7 9M 94, M

cy

p~byfeby ¥ 4] * AISC-LRFD %3+ £ % 4 @ 4 o
GIAL L 0 @ * 1986 ~ 1994 ~ 1999 ~ 2005 AISC-LRFD .45 ¢ g »xf Ri# ek F -

- H i % & (single-bay multistory) & £ #5534 & 5o (304 S HEACH 1 977 ) o Bt B4 4 v
A& L5 AB~CD(® fr#fs 5 A992 W14x145 )4 » Fy=50Ksi) K% phor 1€ P 22k T 4
Hit# 4o® 1 #77% ° 3#41* AISC-LRFD } »<& A i# (Effective Length Method )t 5 -+ AB -

CD At M55 5 & i 4 45 4 50 2 BT I o BARILT Yoo o 2 08 AN E4TA 3 o

163?} %47}\1,@_‘ F"L——
2@ ARk K



lP

T N
| |
P =230 kips dead load
13 92 kips live load
w
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B 1.41 D | w=0.5Kips/ft dead load
1.5 kips/ft live load
A EHE e
H = 78 kips wind load
13
| |
C
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Bl i halyefgin
423k 423k 423 l( 423 l( Aoh Aoh
\ i Lo s
I
Lok 3.0 K/t 3.0 K/t 19k | | i
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Column A / /
Jy 20 kAt v 85kt :
Ve Ve 7 Ve /7:'0'3 K Kosk
(a) Gravity-only + notional (b) Nonsway part (c) Sway part
368 k 368 k 368 k 368 k Aoh Aoh
i 4 : H H,
I
1248k 2.1K/ft 2.1 Kift 1248k | | ,’
._>IIIIIIIIIIIIIIIIIIIIIIIIII IIIIIIIIIIIIIIIIIIIIIII”I”I|# — l -~ =
M T w\ 258
) a0 et ; . f 258 k-ft
/
Column A /)
Uy 21 ket Ly 554 k-ft
Ve Ve Ve Ve Vg
. . v 185k 18.5k
(d) Gravity + wind (e) Nonsway part (f) Sway part
B2 -ZEPELITTZXI LN
f# ¢ W14x145 (2005 AISC / P.1-20)
A=427in% d=128in,t,=0.68in, by=15.5in, ty=1.09 in, b /2ty = 7.11, h t, = 16.8,

Sy=232in% I, = 1710 in*, r,=6.33in, r, = 3.98 in, Z, = 260 in®

¢ * ASCE 7-05P5/LRFD { ¢ o & :
1.1.4D +F)
2.1.2(D +F +T) + 1.6(L + H) + 0.5(L; or S or R)



3.1.2D + 1.6(L, or Sor R) + ((0.5 or 1.0)"L or 0.8W)

4.1.2D + 1.6W + (0.5 or 1.0)'L + 0.5(L, or S or R)

5.1.2D + 1.0E + (0.5 or 1.0)'L + 0.2S

6.0.9D + 1.6W + 1.6H

7.0.9D + 1.0E + 1.6H

FARAEE RS EY AR I FI A BPREFF N LA RS
1. £4 ;t ¥ = 12(D+F+T)+16(L+H)+05(L,orSorR)
Pu=1.2x230 + 1.6x92 = 423.2 Kips

Wy =1.2x0.5+1.6x1.5=3.0Kkips/ft (F - & #2325 £)

Bol B P E N B g 4 £ (gravity-only load) e £
Ni=0.002Y;> Yi= f#E€e g bikends 1

N;=0.002Y; = H,=0.002(423.2x2 + 3.0x28) = 1.861 ~ 1.90 kips
2. 4% + B+ = 12D+16W+(050r1.0)'L+0.5(LorSorR)
fI* ASCE7-05 '€ =& 4:12D+1.0L+1.6W

Py =1.2x230 + 1.0x92 = 368 Kips H, = 1.6x78 = 124.8 Kips

Wy=12x0.5+10x15=21Kips/ft (% 7 B et f 2 300 4 £)

b, E
=—=7.11|<| 4, =0.56 =135 OK
( 2t, ] [ /Fy,k3| \/_ ]
/1:1:16.8 < ﬂr:1.49 E 253 253 =35.6 OK
w \/Fy,k5| \/@
= ¥R 58T e

% * 2005AISC %3+ # B C-C23,C-C24 e1G B2 T o 1+ 2 3 2%k & FlF+ K

SI/L A _2(1/13) _

_ - 2005/ P.16.1-241, P.16.1-242
“PsI/L,e 141/28 ( ’ )

Ghoton=1.0 (2005 AISC %2+ < 4 —F C-C2.3> £ £ H#:4G=10) (P.16.1-241)

v E Ke=157 (2005 AISC %k 3++# [ C-C2.3/2005AISC/P.16.1-241)



Fle ¥ RiLy-7 v TR RN 4L

K,L
K,=10 KL, 21'57X13X12=38.7 vy :1'0X13X12=39.2
r, 6.33 r, 3.98
¢cFer=40.2 ksi (145 KL/r =39.2) (2005 AISC Table 4-22 / P.4-318)
¢ Pn = ¢ For Ag = 40.2x42.7 = 1720 Kips (2005 AISC / P.4-13)

FE4 fEenfinT @ £4 (Gravity-only) + X §* £ (Notional) / & 2-(3)

& & 4% £ & (unbraced length) L, =13 ft.

M = Fy Zy = 50x260/12 = 1080 ft-Kips (2005 AISC / Eq.F.2-1/ P.16.1-47)
L, =L.76r, FEy = \/% r, = 33%3('19;) =14.1ft (2005 AISC / P.16.1-48 / P.3-15)
Mn = M, = 1080 ft-Kips ¢ My, = 0.9x1080 = 975 ft-kips (2005 AISC / P3-15)
Lo=14.1ft L =617 ft (2005 AISC / P.3-15)
75 Ly<lp, #My= oM, 2005 AISC C-F1.2 / P.16.1-269
Cm= 0.6 — 0.4(M/My) = 0.6 — 0.4(29 / 57) = 0.4 (2005 AISC / P.16.1-22)
P, = (’é j E)IZ _7 (ifggi)z()ljlo) = 20111.5kips (2005 AISC / P.16.1-22)
P, = Py = Py = 423 + 14x3.0 = 465 Kips (2005 AISC / P.16.1-21)
£ R A e, h#ikc By
1943 1986 AISC-LRFD 1B, :

Co 04 4v1025-041<10 = #* Bi=10 (1986 AISC / P.6-48)

B:
' 1-P,/P, 1-465/19605

He

Pe = Aq Fy/kc2 P B AEET G 0 A KSL104 2 & &2 3 E2-4 (1986 AISC / P.6-39)

KLF: 13x12 ~033 Pe=AyF, /%2 =42.7x50/0.33% = 19605 kips
6.33x 7 2900
Ay=42.71in2r,=6.33n. (1986 AISC / P.1-28, P.1-29)

#2145 1994 AISC-LRFD 1B, :



B, = Cn 04  _4.1025-041<10 = #* B1=10 (1994 AISC / P.6-41)
1-P,/P, 1-465/19605

Hoe

Pe=AgFy /A’ B¢ A% ETd > A& K104 T & &2 5% E2-4 (1994 AISC / P.6-47)

o KL Fy 1312 | 80 a5 A =427in2:1,=6.330n. (1994 AISC / P.1-34, P.1-35)
“ rz VE 6.33x7z\29000

Pe=AgFy/ A> = 42.7 x 50 / 0.33% = 19605 kips

+93% 1999 AISC-LRFD 1B, :

7°El_ z%(29000)(1710)
(KL)? (13x12)°
C 0.4

m

B = =
' 1-P,/P, 1-465/20111.5

P, = =20111.5kips (1999 AISC / P.16.1-17)

=04x1.024=041<10 = #* B1=10 (1999 /P.16.1-17)

#295% 2005 AISC-LRFD 1B :

C, 0.4

B, = - ~041<10 o=10 = #* B;=10 (2005 / P.16.1-21)
1-oP, /P, 1-465/201115

% B3B3 1.0 4oB 2(C)7 o i HE 2 B i Bae] At H sl $0 e (57 k-ft) o

TR * BiMy =57 k-ft »

Bl =A% e s ¥ B

PR Y R T LS VR4 fUE TP, T Py = 0Py = 2(423) + 28(3.0) = 930 kips
ek a‘f_(EuIer)i‘ € Pt pitE wmi v KL/r» ¥ K>10- éf_jx%‘vn’}uj ¢ o K=1572 KL=

1.57x13x12=2451in > ¥t - 343+ X L E Pgy o

2 2
p, - Z Bl _ '(29000)A710) g5 g ying (2005 AISC / P.16.1-22)

(KLY (245)

4304 A 44 ek & 113 0 SP = 2(8153.8) = 16307.6 Kips.

1344 1986 AISC-LRFD B, :

B—— 1 - 1 —1.06207 ~1.06 (1986 AISC / P.6-49)
1-YP,/>P, 1-930/(2x7956.8)

H

Pe=AF, /02 5 - Kb Fy _157x13x12 | 50
‘ rz\E 6.33x 7 29000

=0.518




Ag=42.7in2ry=6.33in. (1986 AISC / P.1-28, P.1-29)
Pe = AgF, /A’ =42.7 x50/ 0.518° = 7956.8 kips

1295 1994 AISC-LRFD 1 B; :

1 1
B = =

2 1-YP,/XP, 1-930/(2x7956.8)
H

=1.06207 =1.06 (1994 AISC / P.6-42)

F
Pea=AgFy/ 7»(;2, A :& o 157x13x12 | 50 0518
rr \ E 6.33x 7 29000

Ag=42.7in2> r,=6.33in. (1994 AISC / P.1-34, P.1-35)
Pez = AgFy / Ac* = 42.7 x 50/ 0.518% = 7956.8 kips

1395 1999 AISC-LRFD B, :
1 1

B == =
? 1-aYP,/XP, 1-1.0x930/(2x8153.8)
= L =1.06048 ~1.06 where o =1.0 LRFD / 1999 ASIC / P.16.1-18
1-930/16307.6
He
2 2
Bl 7'(29000)(710) g5, (1999 AISC / P.16.1-18)
(KL) (245)
1345 2005 AISC-LRFD ¢ B, :
1 1 1

B = = =
2P, /2 —aX > —1.0x X .
21 P,/ZP, 1 P./ZP, 1-1.0x930/(2x8153.8

1

= =1.06048 =~1.06 wrerea =1.0 LRFD / 2005AISC / P.16.1-21
1-930/16307.6

+2 AB ~ CD &g % 2 % 52 My %
My = BiMy + B2 My = 1.0 (57) + 1.06 (8.5) = 66 ft-kips
¥ % 2005 AISC 2 ;% H1-1a/P.16.1-70 » % & = = »cfs2 Py %

Pu = Pnt + B2 Pi: = (465) + 1.06 (0.3) = 465 Kips

B _ 485 6971502 2005 AISC Eq.H1-1a / P.16.1-70
4P 1720

B8 Mu g o ﬂﬁ(ﬁjzo.znﬁ[ﬁjz 033<10 OK
# 9 4M 1720 9975 9\ 975



E4FE + AT 0 £4 (Gravity) + B 4 (Windload) / Bl 2-(d)

¥ & Pul(4Pn)>0.2, ¢Pl“3 = P“tlngSP“ =0.243>0.2 2005AISC Eq.H1-1a/P.16.1- 70

A - A Rk By

Cmn = 0.6 — 0.4(M1/My) = 0.6 — 0.4(21/40) = 0.4 (2005 AISC / P.16.1-22)
P, = Py = Py = 368 + 2.1x14 = 397.4 Kips

1945 1986 AISC-LRFD 1B, :

B - Cm _ 0.4 ~04083<10 = H* B;=10 (1986 AISC / P.6-48)
1-P,/P, 1-397.4/19605

H
Pe=AgF, /070 27 G4BT 5 o A8 K<104 %% f2 5 E2-4 (1986 AISC / P.6-39)

,%ZKLF:BM? | 0 _g33 Ag=427in%r,=6.33in. (1986 AISC / P.1-28, P.1-29)
rr \VE 6.33x 7\ 29000

Pe=AgFy/ A’ =42.7 x 50 / 0.33% = 19605 Kips

1395 1994 AISC-LRFD 3B, :

B - Cm 0.4 ~04083<10 = #* B;=10 (1994 AISC / P.6-41)
1-P,/P, 1-397.4/19605

H
Pe = Ag Fy/kc2 P B A EET G o A KSL04R 25 2 3% E2-4 (1994 AISC / P.6-47)

P :KLF:BMZ | 0 _o33 Ag=427in%>r,=633in. (1994 AISC/P.1-34, P.1-35)
‘ rz\E 6.33x7z\ 29000

Pe=AgFy/ A =42.7 x 50 / 0.33% = 19605 Kips

1345 1999 AISC-LRFD ¢ B; :
_ 7’El_ z*(29000)(1710)
"(KL? (13x12)
B__ Cn _ 0.4
' 1-P, /P, 1-397.4/201115
1345 2005 AISC-LRFD B, :

2 2
p, - ZEl _ 7 (29000)A710) _ 5115 5kips (2005 AISC / P.16.1-22)

(KL (13x12)

— 20111.5 kips (1999 AISC / P.16.1-17)

=0.4081<10 = #* B1=10 (1999 AISC / P.16.1-17)




B — Cm _ Cm _ 04
' 1-P,/P, 1-aP. /P, 1-416/201115

=041<10 a=1.0

= #* B1=10 (2005 AISC / P.16.1-21)
Ik PR A A ¥k By
TPy = aZPp = 2x368 + 2.1x28 = 795

#*El _ x%(29000)(1710)
(K,L)? (245)?
1395 1986 AISC-LRFD B, :

Pez =

=8153.8kips = Y P,, =8153.8x 2=16307.2 kips

B-—— L - ! —1.0526 ~1.05 (1986 AISC / P.6-49)
1-YP,/XP, 1-795/(2x7956.8)
He
Po=AgFy /05, 7 KL Fy _157x13x12 50 _ o
rz \ E 6.33x 7\ 29000
Ag=42.7in%> r,=6.33in. (1986 AISC / P.1-28, P.1-29)

Pe=AgFy/ L =42.7 x50/ 0.518% = 7956.8 kips

1345 1994 AISC-LRFD 1B, :

B _ 1 ~ 1

2 1-YP,/XP, 1-795/(2x7956.8)
# ¢

=1.0526 ~1.05 (1994 AISC / P.6-42)

F
Pea=AgFy/ kcz, A :& o 157x13x12 | 50 0518
rr \ E 6.33x 7 29000

Ag=4271in%> r,=6.33n, (1994 AISC / P.1-34, P.1-35)

Pes = AgFy / A2 = 42.7 x 50 / 0518 = 7956.8 kips
$24% 1999 AISC-LRFD B, :

1 1 1

B, = = = =1.0512~1.05

1-aYP,/XP, 1-1.0x795/(2x8153.8) 1-795/16307.6
#¢ ¢=10 LFRD /1999 AISC / P.16.1-18
2 2
=7 El 7 (29000)2(1710)=8153.8 k (1999 AISC / P.16.1-18)

(KL) (245)

124 2005 AISC-LRFD 1B, :

B, ! L 1 1 =1.0512 ~1.05

"1-3P, /5P, 1-a3P,/SP, 1-1.0x795/(2x8153.8) 1-795/16307.6
#+¢ =10 LFRD / 2005AISC / P.16.1- 21



Pu=Pnt + B2Pit = 397.4 + 1.05x18.5 = 417.4 Kips
Mux = B1 Mpt + B, My = 1.0x40 + 1.05x554 = 622 k-ft

¥ % 2005 AISC 2 ;¢ Hl-la (P.16.1-70).

fo 4174543502 Eq.H1-1a/P.16.1-70

4P, 1720

P, +§ My <1.0 %+§[%J:0.81<1.0 OK
P, 9\ 4M, 1720 91975

F]#t 4295 AISC-LRFD (1986~1994~1999~2005) ik %3+ 5 - & & 3 AB~CD (%73 5 W14x145)

AF KRR P REE (service load) -

BIAL 2 @ % 2005~ 2010 AISC-LRFD 44 ¢ 2 & 34 172 sk F—4rip
P EREZEATREE BR PR FEH L - IR 37T o B - AR 4 R
4ol 3-(a) ~ (b) #7om o it * E FE4 472 (Direct Analysis Method) te & i /] L 35 554 ¢ chik-

B (%5 5 A992 W12x65 A4k %75 )T % & AISC-LRFD (2005 -~ 2010) -

Pp = 85 k
$PL = 220 k &6 K
__ Mp = 15 k-ft 132 k-ft
4 M, = 45 k-ft
W12x65
15 ft
\ 4
— Mp = 18 k-ft 132 k-ft
M, = 52 k-ft $
56 k
(a) Gravity (b) Wind

®13

2005 ~ 2010 AISC-LRFD 4 453 ;2 : W12x65 (2005 AISC / P.1-22)
A=19.1in% d=12.1in,t,=0.39 in, by=12 in, ty= 0.605 in, bt /2t = 9.92, h/t,, = 24.9,
Sx=87.9in% r,=5.28in,r,=3.02in, rs=3.38 in, Z,= 96.8 in®

A992 414k (Fy =50 ksi / 2005 AISC / P.2-39)



AISC-LRFD §* & 2 & 4= : (2005 AISC / P.2-9)

1.4D
1.2D + 1.6L

1.2D + (0.5L or 0.5W)
1.2D + 1.0W + 0.5L
1.2D +0.5L

0.9D + 1.0W

(1) 1.4D = 1.4 x 85 = 119 kips

(2) 1.2D + 1.6L =454 kips  «

(3) 1.2D + (0.5L or 0.5W) = 212 or 138 kips

(4)1.2D +1.0W +0.5L = 268 kips <«

(5) 1.2D + 0.5L = 212 kips

(6) 0.9D + 1.0W = 76.5 * 56 kips

RiptdaPde s 8 APERFL2E02) & 4)
12D+16L & 12D+1.0W+0.5L

FEEEQE@)TY T duphd B PR 4 557

454 k 212 k

90 k-ft 40.5 k-ft

56 k

4$ 132 k-ft

W 104.8 k-ft W 47.6 k-ft W 132 k-ft
Gravity (1.2D + 1.6L) Gravity (1.2D + 0.5L) Wind (1.0W)
@F£xs2(12D+16L) (D) F*£2es 4(1.2D+0.5L +1.0W)
s

1935 KL = (KL), = (KL), = 1.0(15) = 15 ft
PE 05 (2):12D+16L (WE S £ ~ 2 F lA)

1)
)
@)
(4)
()
(6)

2005 AISC Table 4-1 (P.4-17)

Pr=Py=Pn+Pi=Pn+0=12D + 1.6L = 1.2x85 + 1.6x220 = 454 Kkips

Mpyi=1.2Mp + 0.5M_ =1.2 x18 + 1.6 x 52 =104.8 k-ft  «



Myt =0 K-ft (F] 5 $HFLIE > #1005 Rl2# 1A 2 h§4E)

Cm = 0.6 — 0.4(M1/M,) = 0.6 — 0.4(90/104.8) = 0.2565 (2005 AISC / P.16.1-22)
1935 2005 AISC % 3+ £ # [ P.16.1-22

2 * 2 * 2 2
p 7 El T Elx2 7 (0.8E2IX): n (0.8)(29,000)(2533) _ 3767 Kips
(KL (K,L) (K.L) (1.0x15x12)
1245 2012 AISC 2% 3+ < # /P.16.1-238
2 * 2 * 2 2
7 El _z EIXZ 7z (0.8E2Ix): 7 (0.8)(29,000)(2533) _ 3767 kips
(KL (K.L) (K,L) (1.0x15x12)
# ¢ El; =0.87,El,=0.8(1.0)El, =0.8El,
& RIEA PR TS By T
o Cm  _ Co __ 02565 59010 (2005 AISC / P.16.1-21)
1-(aP, I P,) 1-(L.0OP,/P,) 1-(454/3767)
Co _ Co __ 0265 o901 (2010 AISC / P.16.1-238)

B:
' 1-(aP /P,) 1-(LOOP,/P,) 1-(454/3767)

#3495 2005 AISC-LRFD / P.16.1-21 a=10 = #* B1=10

N 90.0 k-ft

M, = BiMp; + BoMy; = 1.0x104.8 + B,x0 = 104.8 k-ft
3.75ft

7 Rghe B4 (required axial load) —X AL3 ket
3.75ft

Py = Py = Pu + BoPy = 454 + 0 = 454 kips ——/Z 7.4 kAt
3.75 ft

- =7
Lp=15feet = C,=" y 56.1 k-ft
B 5 % 7 % & gravity-load 1% T 2§42 ) 3.751t /
196 M Y 104.8 k-ft

max

C =
®25M,, +3M, +4M, +3M_

)

12.5x (104.8) _ 1310 _524<30 /2005 AISC / P.16.1- 46

" 2.5(104.8)+ 3(41.3)+ 4(7.40) + 3(56.1) 583.8
11 Lp=15ft > 4345 AISC %4 Table 3-10 (2005 AISC / P.3-121)

¢ Mp =340 k-ft (Cp=1.0)

1395 AISC A4 Table 3-2 (2005 AISC /P.3-17) ¢ M, = 356 k-ft.
3 Cp=224  HM,=224x340=761.6 k-ft > ¢, M, = 356 Kk-ft
= &* ¢ My= @ M, =356 k-ft.

# & gravity load =7 P/ /(4 Pn)>0.2



Pr/Pc = Py /(4Pn) = 454/662 = 0.6858 > 0.2  # * Eq. H1-1a/2005AISC/P.16.1-70

M
},‘5520.2 i+§ &+—W <1.0
Pc Pc 9 Mcx I\/lcy

#¢ P=P,P =¢P, M_,=M,, and M_ =¢.M

n

¥ 3 AISC = 5% (H1-1a) (2005 AISC / P.16.1-70)

P 8[_M, :(454j+§(%j:0.94731.0 (OK)
P 9lg M) \662) 9l 356

= PELL(4):12D+05L+16W (¢ 3 #l=43)
945 KL = (KL), = (KL), = 1.0(15) = 15 ft

Pe= ¢Pn = ¢ For Ag = 662 Kips 2005 AISC Table 4-1 (P.4-17)
& R A e, i By

Pr=Py=Pny+BPr=212+0=212kips  B,=0

M (top) = 1.2Mp + 0.5M_ = 1.2x15 + 0.5x45 = 40.5 k-ft

Mt (bot) = 1.2Mp + 0.5M = 1.2x18 + 0.5x52 = 47.6 k-ft ~ «

My = 1.6 My, = 1.0x132 = 132 k-ft

Cm = 0.6 — 0.4(M1/M,) = 0.6 — 0.4(40.5/47.6) = 0.2597 (2005 AISC / P.16.1-22)

1395 2005 AISC %3+ +# /P.16.1-22

2 * 2 * 2 2
p T El _z EIXZ 7z (0.8E2IX)= P (0.8)(29,000)(2533) _ 3767 kips
(KLY (K,L) (K,L) (1.0x15x12)
1245 2010 AISC %3+ < # /P.16.1-238
2 * 2 * 2 2
7 El _z EIXZ 7z (0.8E2IX)= P (0.8)(29,000)(2533) _ 3767 kips
(KLY (K,L) (K,L) (1.0x15x12)
#¢ El’ =0.87,El, =0.8(1.0)El, =0.8El,
£ P =M g F]F By
B—— Cm  _ Cn __ 02597 557510 (2005 AISC / P.16.1-21)
1-(aP, /P,) 1-(LOOP. /P,) 1-—(212/3767)
B—_ Cn Cn 0.2597 _0280<10  (2010/P.16.1-238)

*"1-(aP./P,) 1-(1.00(P,+P )/ P,) 1-1.00((212+56)/3767)



#29% 2005 AISC-LRFD / P.16.1-21 a=1.0 = #* B1=1.0
R PHFH P §Ere s Bl By 0 fRIE AT L SR 2 HArAw A 7 R Paory
ﬂ}‘-" I:)estory o Fl g HcE AG|P 2T (70 AP RERK I:>st0ry/ Pe story SR BBt GlAp e o

P, 212456 268
Paoy P. 3767 376

1 1
B, = = ~1.077 161
? Py, 1.0(268) (2010 AISC / P.16.1-239)
1- v 1
P 3767

estory

2Bl z’El,  7?(0.8El,)  z2(0.8)(29,000)(533)

P, = KO-~ (O~ Gostsey - 3767kips (2005 AISC / P.16.1-22)
B, = ! O S L =1.06 (2005 AISC / P.16.1-21)
1-(@> P, /> P,) 1-(P,/P.,) 1-(212/3767)

2 & fh 4

Pr =Py = Pyt + BoPy = 212 + 1.06x56 = 271.36 kips (2005 AISC)
P, =Py =Py + BoPy = 212 + 1.077(56) = 272.3 kips (2010 AISC)
E Rl o

My = BiMp; + BoMy; = 1.0x47.6 + 1.06x132 = 187.52 k-ft (2005 AISC)
My = BiMp; + BoMy; = 1.0x47.6 + 1.077x132 = 189.764 k-ft (2010 AISC)

B R My o My A o 0 G4pinY Cor KAk » RHFE S % o M, =356 k-ft 345
Wi R -

# & gravity load =" P/ /(4 Pn)>0.2

h_27136_ 0.4099 ~ 0.41 (2005AISC) | fr R _2723_ 0.411 (2010 AISC) (> 0.2
&P, 662 ¢.P, 662
M
f1* Eq.H1-1a / 2005 manual P.16.1-70 Forizo.z ﬂ+§ %+—W <10
Pc Pc 9 Mcx cy

__/‘E!V—‘ Pr:Pu’ PC:¢CPH’ MI’X:MU7andMCX:¢CM
t 4 (2005 AISC 4.4 H1-1a/P.16.1-70)

P, 8[ M,, Muy} 271.36 8(187.52 j 8(187.52
+ + = +— +0

8 =0.41+> —J:O.878 <10  (OK)
4P, 9 4M, 4M, | 662 9 356 9 356

n




f % (2010 AISC 4.4 H1-1a/P.16.1-73)
P 8( M, Muy] 272.3 8(189.764 j 8(189.764
+ = +— +0

u =0.411+— j=0.885 <10 (OK)
WM, M, ] 662 9( 356

+_
P, 9 9
F)gt o gt 4E 5% £ 2005 ~ 2010 AISC-LRFD 45 % &

BRvg/ fEes 12D+16L & € w4 12D+ 16W+0.5L

7] %8
U]’LZ Bl Bg Pu Mux Pel I:)e2 (k) Pu +§ Mux <1.0

(k) (ft'k) (k) Pe story (k) ¢P” 94M nx

2005 AISC-LRFD 4

1.2D +1.6L 1.0 | *NA 454 104.8 | 3767 *NA 0.947

12D+ 10W+05L | 1.0 | 1.06 |271.36 | 187.52 | 3767 3767 0.878
2010 AISC-LRFD 4=

1.2D +1.6L 1.0 | *NA 454 104.8 | 3767 *NA 0.947

12D+ 10W+0.5L | 1.0 | 1.077 | 272.3 | 189.764 | 3767 3767 0.885

*NA: Not Available / 7 i *

1. ## % ¥ 1 AISC-LRFD #4>(1986 ~ 1994 ~ 1999 ~ 2005 ~ 2010) ¢ -~ ¥ —fi g ©* 2 483 <
Fl+ B % By R AR I ARFFE A -

2. AL HART 2 FTE E R 1 fefF B 2 AISC-LRFD 4 ¢ (1986 ~ 1994 ~ 1999 ~ 2005 -
2010) 523 4 H 1% 2 A 47 o

3. A& v i AISC-LRFD 4> ¢ (1986 ~ 1994 ~ 1999 ~ 2005) #—Hrfpi* 5 »ck Rz 2 £ &
Moo

4. #7 - #AISC-LRFD 44> # (2005 ~ 2010) -t e & miri2 2 L R 14 -

54

AISC (1986, 1994, 1999), Manual of Steel Construction, Load and Resistance Factor Design, 1%, 2",
3" editions, AISC, Chicago, lllinois.

AISC (2005, 2010), Manual of Steel Construction, 13", 14™ editions, AISC, Chicago, Illinois.

Salmon, C.G. and Johnson, J.E. (2009), Steel Structure Design and Behavior, 5 edition, Upper

Saddle River, New Jersey, P.591-645.
Segui, William T. (2012), Steel Design, 5™ edition, Thomson Publishing, Canada.




